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11.2 Worksheet

For #1 — 3, find the volume of each shape. Exact answers only (no decimals.)

2) regular hexagonal prism 3)
hemil 5 d=¢
20 inch 8
| r=3

w |

V= Bh 8'inches v__ Trr-ll,\
= BL\ 2
v (o) b -y () (6)

U= (+am)e) o L(447)(48) (0) V= 21 ]

pay | e

For #4 — 7: Not-On-Your-Belly Low-Sugar Jelly comes in 2 different jars at 2 different prices.
The larger jar, with a height of 9 inches and radius of 3 inches, costs $6.25. The smaller jar is $1.49
and has a height and radius of 7 inches and 2 inches respectively.

4) What is the price per cubic inch of jelly for the large jar? o :
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5) What is the price per cubic inch of jelly for the smaller jar? &
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6) A recipe calls for exactly 500 cubic inches of jelly and there is none at the house. Any
remaining amount of jelly is wasted! How much money would need to be spent on 500
cubic inches of jelly only buying large Zars?
goo  __
~ |.5¢ .

&

7) How much money would need to be spent on 500 cubic inches of jelly only buying

small jars? |.49
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8) A planter in the shape of a rectangular prism has a length of 36 inches, a height of 7 inches,
and a width of 18 inches. The planter needs to be filled to 1 inches below the top. Harold
purchases 2.5 cubic feet of soil to fill the planter. How much extra soil (in cubic feet) will
Harold haye after filling the planter with soil up to 1 inch below the top?
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9) You want to design a cylindrical container for paint that has a volume of 120 in®, and you
want the height of the container to be 3 times the radius. To the nearest hundredth of an inch,

find the radius of the contain\e/r.= T N L\ l 2 = 97r 3
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10) A cylinder has a volume of 1627 cubic inches and a diameter of 6 inches. What is the
height of the cylinder? Exact answers only (no decimals.) lé Iy
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11) A cube has an edge of 5 mm. Find the V of the cube.

12) A farmer needs to build a water trough that holds at least 50 gallons of water. The farmer is
planning to build a trough in the shape of a triangular prism. The trough will have two egiiaterzl
triangles for sides and will be 4 ft long. If there are 7.48 gallons in a cubic foot of water, will the

farmers trough hold enough water?
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Answers:

1) 48 in® 2) 19203 in 3) 72ruv®  4) $0.02 per in® 5) $0.02 per in3
6)$12.50  7) $8.94 8) 0.25f  9) 2.34in 10) 2in
11) V=125mm®  12) Yes, it can hold 51.82 gallons.
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